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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)

1x10=10

o e eR forl ¢ (72019)

() The full form of IFRS is |
IFRS T 37 9% g« |

(1) IASB stands for Indian Accounting
Standard Board. .
- (State whether the statement is true or false)

IASB WA ©IRSIT fZpioeait e QIS |
(5% @ s&7 @)
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(iii) Accounting Standard is mandatory for
(Fill in the blanks)

3 IR IR TS IO |
(AT} 512 99 )

(iv) In case of compulsory winding up
liquidator is appointed by court.

(State whether the statement is true or false)

PO ST CFIS TS SIS
e o (Refecsr o & Sam &)

(v) A contributory in winding up of a
company is a creditor.

(State whether the statement is true or false)

@R SPINARY CFa® RN 26 G
S | (Refecor va & oom fo3ll)

(vi As per section 17 of the Banking
Regulation Act, every bank has to
transfer % of profit to
statutory reserve fund.

(Fill in the blanks)

@ FafEe Szt 17 99 SR afo Qe
1ICH *oiex| IO sffer [fdte
FIHG] BRI M| (AT 312 939 F90)
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(vii) Banking companies are governed by the
Banking Regulation Act, .
(Fill in the blanks

QR AR ififere = @R Fagd
13, QR | (T DT 979 )

(viii) What is surrender value in life
insurance ?

G e sl @7 & 2

(ix) Rebate on bills discounted for a banking
company is an income.
(State whether the statement is true or false)

TS Red (@2 @RI @=ANBTR 9o
oY | (Ryfetor 7 @ erom for3)

(x) Commission on reinsurance ceded is
an income.

(State whether the statement is true or false)

SRR AN IR GBI SF |
(Rgrecor o% & ooa fa3)

(xi) Face value of the investment is always
equal to the capital value.

(State whether the statement is true or false)

R wfeRe 1 Wim FA 0 AN
= | (Refecor om & o5 f773)
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(xi)) What is reinsurance ?

o & e

(xiii) The first item in order of payment to

be made by liquidator is :
(Fill in the blanks

SRAAE ARCNY I FAANTIYE AR
SIfIHIR ALY T |
(=T 512 2F79 F1)

(xiv) What is the meaning of cum-interest
in Investment Accounts ?

RRfScaist fpiof® [o©@ (cum-interest) A
1508

(xv) Profits earned during the pre-
incorporation period are transferred to
(Fill in the blanks)

ANF-TFTE TIIY oo e oS FREC

SIS 51 ZNISI ¥4 W
| (71 212 99 70)
2. Answer the following questions : (any five)
2x5=10

TS AR et ol 2 (R sfohia)
(a) What is Accounting Standard?

251t wms & 2
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(b)

(c)

(d)

(e)

(g)

(h)

What is winding up of companies ?

AT S Wi & ¢

Mention two distinctions between IFRS
and Ind AS.

IFRS W% Ind AS ¥ WISrS A3 707 #ii<f<y
TrEd 4|

What is XBRL filling ?
XBRL #ifd#[@d f& 2

What are non-performing assets ?

SRRt Tife i & 2

Who are the preferential creditors in
respect of winding up of companies ?

@ATPIE SPNETE CFae SAlfdeN &
MM (I 2

Mention any two features of Investment
Accounting.

iR ot R 7oy (e Sad 3|

What is profit or loss prior to
incorporation ?

A THGE AN oS I @R WA & 2
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3. Answer the following questions as directed :
(any four) Sx4=20

wee il e Ao o} Tel feisi s
(Riereat 513513)

(a)

(b)

(c)

(d)

(e)

Give an overview of Accounting
Standard in India.

SReIHY fBpie T 8o® a6 AN
yiReT v

Write a note on IASB.
JIASB ¥ 89¥% 951 (o1 foral |

How is profit or loss made prior to
incorporation treated in accounts ?

AR TG AT TS-EFANR 251 I
@FEE ¥ W o

State the features of liquidator’s Final
Statement of Account.

SRR o Ryfe fpivR RFRpmR

901 ' -

Point out the features of accounts of
life insurance companies.

GRA AN @R ZpeR [ERPR
Tyfeed|
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() Mention the statutory books to be
maintained by banking companies.

2 @roirmrz [Rfte IR @FEE

5IIE ©fF OE 91 |

(g) Write a short note on Valuation Balance
Sheet in respect of insurance
companies.

Wmﬁmm@mmem
«ft Gt el

(h) Explain the special features of bank
book-keeping.

@3 Boieiewar Redg REErRR Il 31|

4. Answer the following as directed : (any four)
10x4=40

(a) Tiskon Ltd. went into voluntary
liquidation having the following

liabilities :

Tiskon Ltd. S&T® Wl (aPZ e It
SIS QOICE 8

Unsecured creditors ¥ 85,000
SIfEaREA *iheTmig
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Secured creditors ¥ 58,000 (realisable
value of securities ¥ 65,000)

TfiWgE “iexmR 58,000 53 (TS s7rifeq
SMITED = 65,000 G3l)

Preferential creditors ¥ 15,000
YIRS ~ANSAMITTIZ

8% Debentures ¥ 18,000
8% A9

Liquidation expenses ¥ 200

SRNTAR ITDTZ

The liquidator is entitled to a
remuneration of 3% on the assets
realised and of 5% on the amount
distributed to unsecured creditors.

T{fEPTR RPNER 7S 3% W% SRR
MGTMILTZE AR T TIF 89S 5%

SAAE T A7

Various assets (excluding the securities
held by secured creditors) realised

¥ 84,000.

Rfer w>ife (wifimge sfeamite ¢si7e T
43 =& M ) Rkl R 84,000 BIF SWIT
CAIT A |
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Prepare Liquidator’s Final Statement of
Account showing the proportion paid
to unsecured creditors. 10

SRAIE FOr ZoieR RS aae ok efimidw
MeAmiss SmiE Tl TR Seite TEd IR

Y& |

(b) Discuss the scope and process of

issuing IFRS in India. 10
©ReIds [FRS e e o= aferm
A 1A |

(c) What is Corporate Annual Report of a
company ? Explain its needs and
objectives. | 4+6=10

gl @NIR T ofsam Iw & 2 2R
AT TSl S SCHHPTIZ, Y 1 |

(d) Write a background of convergence of
Indian Accounting Standard with IFRS.
10

SIS f3pIoF WAFHYZ IFRS I #9S
OHISTIIT P63 8oiTe oI (OIt feralt |
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(e) What are different modes of winding
up of a company ? Describe the powers
of the liquidator under compulsory
winding up of companies. 3+7=10

SRR Rfen SRz & & 2 @i
ATOAT TIATR (TS AB HIAFIS

FASITT WG 1 |

() From the following information, prepare
a Profit and Loss Account of United

Bank of India for the year ended on
31st March, 2022 : 10

O SYFAYA #9l, United Bank of India I
31 Wif, 2022 SIfFI® G IR A G
S-CENIbIN 2519 2 11 3

?
Interest on loans 4,70,000
AR B9IS S |
Commission 1,54,000
W&

Interest on fixed deposits 5,34,000
FT TR 8IS O

Discount on bills
discounted (Gross) 3,40,000

e TR 8oTS AT (IB)
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Interest on cash credits
TR (FOhY 8T o
Interest on overdraft
FORGIFOY GRS S

Rent and taxes

OCl ¥ 9

Sundry charges (Dr)
iRy w1 (ce<D)

Payment to employees

I ARey

Interest on S/B accounts
S/B fZpioR @og® J©
Director’s fees

HALETFY THe

Locker’s rent

SIBIR] ©Ivl

Depreciation

Sk

ATM maintenance charges

ATM B8l 4R

Rebate on bills discounted

=1 IR 871© @TL

Provision for taxation
e S
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4,46,000

3,950,000

30,000

10,000

1,00,000

60,000

5,000

40,000

2,000

1,000

12,000

30%

Contd.



(g) From the following particulars, prepare
a Fire Revenue Account of FRJ
Insurance Co. Ltd. for the year ended
on 31st March, 2022 : 10

©eT® Al ST @] FRJ Insurance Co.
Ltd. ¥ 2022 571 31 WHO ST 3oq IKOKE

AR S IR i ows 402
?

Reserve for unexpired

risk on 1-4-2021 2,56,000
1-4-2021 Sifs 71 SfSA1Zs

TR AT ffS

Additional reserve

on 1-4-2021 40,000
1-4-2021 ©ifys

ol wom ffe

Claims paid 3,60,000
WA ‘#ﬁt‘na |

Management expenses 1,20,000
ARBEAR I

Premiums 5,40,000
farfsmm -

Interest and dividends 90,000
S A I

Income tax deducted
on above 3,000
IS % TR GATS ST T
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Reinsurance premium 45,000

smanR ferfmm

Profit on sale of investments 10,000
NSt

Legal charges regarding

claims 2,000
L E1 R e ISAUAC ECRICIEE 1]

Reinsurance claims received 14,200
RIS WL 2

Commission on direct 52,000
business

AT YT 8IS TE

The company calculates its reserve for
unexpired risks at 50% of the net

premium each year.

oIfS I @AIRITBIE T SSANTS (AT AL
A oo AR eivs 50% & 4 T

(h) Consider the following information
taken from the records of Das Ltd.:

Das Ltd. ¥ SfA-o@q #[1 oeto WAl SYAR
et 31 ¢
() The company had a balance of 5%

Government Bonds of ¥ 5,00,000
(Cost ¥ 4,80,000) as on 31.12.2020.

(FT=AINIGIR 31.12.2020 ©IfkI®
5,00,000 5313 (¥ =T 4,80,000 5)
5% SIRCT0 (A TY& Hifez |
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(i) Interest was receivable on April 1
and October 1 each year.

ofS IR 1 Wit W1 1 ST SIS
TS A e |

(iti) The company received interest up
to October 1, 2020.

@AIRIGI 2020 571 1 SCBIECE O
o TR |

(iv) On July 1, 2021 the company
further purchased bonds of
¥ 1,50,000 at a cost of ¥1,70,000.

2021 B9% Tz WF 1 wifie
@ANIGIE 979 1,50,000 T
1,70,000 I FATTF @S F a1 |

(v) On October 15, 2021 bonds worth
T 1,80,000 were sold for ¥ 1,70,000.

2021 5% 15 W(IRIS 1,80,000 TFI]
@ 1,70,000 B3rs [t FfR_ie |

You are required to prepare Investment
Account for the year ended on 3lst
December, 2021 valuing investment on

average cost basis. Ignore brokerage.
| 10

RRESIERR % I7 ARfoS O IR 2021
571 31 forrese S@eoiRl IR IAE@ G|
R oisl owe 3 | qiee) 4 el 3R |
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() Moon Ltd. was incorporated on July 1,
2021 to acquire a running business with
effect from 1.4.2021. The accounts of
the company for the year ended on 31st
March, 2022 disclosed the following :

2021 51 TR ©Iff¥S Moon Ltd. SHeS (3%
1.4.2021. ©IfI37 29 ILF QT 61 5o7%
TP ST FRQA 31 TS 2022 (@F=ARIGR

fZp1oiaRT 71 wele SAPTR (Al (25 3

(i) There was a gross profit of
¥ 1,50,000.

@A Y5 e «f e wnfes
1,50,000 Bl |

(i) Sales for the year amounted to
¥6,00,000 of which ¥1,20,000

were for the first six months.

TREIR [t 6,00,000 5 wifesT =<
3R 1,20,000 53 AT &Y TS 3% |

(iii) Expenses debited to Profit and
Loss Account were as follows :

IS (EIFGI 25191 (BfiG 02 33! IR
T G 43R ¢

Director’s fees ¥ 9,000
ARETIY AR

Bad debts ¥ 1,800
SRR 4
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Advertising
(contract amount

per month ¥ 500) ¥ 6,000
fRestom

(FezFe 500 Tl fepise pfe<m)
‘Salaries ¥ 32,000
LR

Preliminary expenses

written off ¥ 5,000
- AR IR R siew

Donation to political party

paid by the company 4,000
AEATST 7T (PI™AINIGIE

S R 7

Prepare a statement showing the
amount of profit made before and after

incorporation. 10
GHIYS TR W WS Py wAeq oifImie
¢RI 9 RS e w11

() Explain mandatory and voluntary
- disclosures to be made in the Annual
Report of a company. ' 10

AR T aforame Sy R

PORETS AP ST (RIS STIPTEE 1]
=
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